N = 0l & At & Ml A

20172 =0 &k LA HAZSE L

AN A2SE D
X ZH 4
(=R B —

Sl FHOYNS BAYEX CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
HLSE N 4,217,034 4,266,043 A 49,009
= 48,505
Xl 110,000
J| 1,283,213
< 458,342
Al 2,316,974
2y SE(BA/BA2Z) 4,017,583 4,069,549 251,966
= 48,505
Xl 110,000
J| 1,283,213
< 458,342
Al 2,117,523
FHAANES 2=z X 1,997,852 2,016,748 A 18,896
= 48,505
Xl 110,000
J| 766,316
< 198,552
Al 874,479
Aog2EEM Y22 31,500 42,400 10,900
201 Let24d] 3,500 4,500 A 1,000
01 At 22l 2,000 2,000 0
O0IE2Z=EdE % otdd 28 222 A
2,000,000& 2,000
03 &Ar2 Z I 1,500 2,500 A 1,000
ootdy A2dus 29 1,500, 000& 1,500
307 glz2tol & 28,000 37,900 A 9,900
01 2222l 28,000 37,900 29,900
OOtE AL JANLE2E 7¢ 8,000,000& 8,000
OootaAZd E8E HAAH X& 2,000,000& 2,000
Ottdd Zela AA ARF 7Y
3,000,000& 3,000
ODXNEE ZAE HHME F*&  15,000,000& 15,000
2 olZH ¥ Morgztel X2-THoreztel 5,014 5,014 0
J| 2,507
< 752
Al 1,755
201 LBt 3,014 3,014 0
J| 1,507
< 452
Al 1,085
01 At 221l 3,014 3,014 0
ogdue & 22 3,014,000 3,014
J| 1,507
< 452
Al 1,055
307 21201 A 2,000 2,000 0




2N
X ZH -
L= B

el

= - - SHE|
SN FHE - B(SA) - MEAY - BHES e
Il 1,000
< 300
Al 700
01 2L F =4l 2,000 2,000
oMt L&kt o z828 NA 2,000,000& 2,000
J| 1,000
< 300
Al 700
SAUXSE HZEX 2AZHl XBAMY 143,532 143,532
| 71,766
< 21,530
Al 50,236
307 21201 A 143,532 143,532
| 71,766
< 21,530
Al 50,236
05 BIZHRIE 3 143,532 143,532
O3 AHHUXY HeX 2A=H XA
143,532,000& 143,532
J| 71,766
< 21,530
Al 50,236
NEXEE MIAMEIA STAIS-ASA MO H202 157,143 157,143
clAb XI&
Xl 110,000
< 14,143
Al 33,000
307 glz2tol & 157,143 157,143
Xl 110,000
< 14,143
Al 33,000
05 RIZHRI &t 3 157,143 157,143
OLZAIMOF A2 2| At XIR&AS
157,143,000& 157,143
Xl 110,000
< 14,143
Al 33,000
=t X& 153,280 153,280
| 76,640
< 22,992
Al 53,648
201 LB-2E| 4,598 4,598
| 2,299
< 690
Al 1,609
01 At 22l 4,598 4,598
0Og ZJ|ZTAL 4,598,000 4,598
J| 2,299




2N HLSE
Zaj: AY SX(LA/PAAE)
e FAHES BAHAS XS (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 690
Al 1,609
307 2Iz2to| & 148,682 148,682 0
bl 74,341
= 22,302
Al 52,039
05 QIZ2tRE 2 148,682 148,682 0
O XIIAEAY 148,682,000 148,682
J| 74,341
= 22,302
Al 52,039
tEtXt o 2H| & Mot 2el XNE-2stioSH X 150,342 150, 342 0
J| 75,171
& 22,551
Al 52,620
307 QI2t0| & 150,342 150, 342 0
J| 75,171
& 22,551
Al 52,620
o1 szt 150,342 150, 342 0
O& X o 2H A& 150,342,000 150,342
J| 75,171
= 22,551
Al 52,620
Aatolgt & HBAMHLSEAY 203,980 202,030 1,950
J| 100,400
= 1,590
Al 101,990
101 Q121 H| 160,580 155,630 4,950
Dl 78,700
o= 1,590
Al 80,290
02 JIEFR &2 %= 13,116 13,116 0
OUAMTR9 olAH (1Y) 13,116,000 13,116
J| 6,558
Al 6,558
04 JIZtHI22XNSES 147,464 142,514 4,950
OAMNEHHEH 2 2AHH| (4Y)
118,284,000 118,284
J| 59,142
Al 59,142
OXHaofl ALY o1 24HI (1Y) 26,000,000 26,000
J| 13,000
Al 13,000
OFNAHUSAHE SALL EXx=E
3,180,000& 3,180
= 1,590
Al 1,590




SN ASBED
o AL SA(2A/LAYE)
S FHAANS BEAAS XA (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
201 ¢er24| 31,400 36,400 A5,000
J| 15,700
Al 15,700
01 At 22l 9,400 21,400 A 12,000
OFUMEBHEH 29 9,400,000& 9,400
p] 4,700
Al 4,700
03 & AL2 I 22,000 15,000 7,000
QFABHHH 29 20,000,000& 20,000
J| 10,000
Al 10,000
ON&UEAY 29 2,000,000& 2,000
J| 1,000
Al 1,000
301 et a3z 12,000 8,000 4,000
J| 6,000
Al 6,000
09 &AL HI B &S 12,000 8,000 4,000
CHABHHH 29 8,000,000 8,000
J| 4,000
Al 4,000
ORO0t= MIAZEZR0| AU 24
4,000,000 4,000
J| 2,000
Al 2,000
HEEHAY 8,960 0 8,960
< 4,480
Al 4,480
301 LAz 1,400 0 1,400
< 700
Al 700
09 SAAHIE &S 1,400 0 1,400
OsSAILA RJASALR AHIE24  1,400,000& 1,400
< 700
Al 700
307 glz2+ol & 7,560 0 7,560
< 3,780
Al 3,780
01 22724l 7,560 0 7,560
OY=EEAAMY 2A=2d XA 7,560,000 7,560
< 3,780
Al 3,780
L2 EAAS(XHA) 36,500 50,460 A 13,960
101 @124l 22,000 22,000 0
04 JI2ZtHZ22HEE = 22,000 22,000 0
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n0

Kio

Hl w

A 1,000
1,000

25,400
A5,400

AT,560
AT7,560

900
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H3r
Wikd
RIS

6,000
1,000
5,000

9,400
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13,060
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7,292
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23,580
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164,000
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4,000
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4,000
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2,000
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5,500
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3,646
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AN A2SE D
M HY SA(EA/2H98)
S FHAANS BEAAS XA (cho &)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Al 41,000
01 222724l 164,000 164,000 0
OMeA=FA=Hl K& 134,080, 000& 134,080
J| 67,040
< 33,520
Al 33,520
OeZ3+F A=l & 29,920,000& 29,920
J| 14,960
< 7,480
Al 7,480
XX =&l K& 133,036 145,436 A 12,400
J| 66,518
Al 66,518
307 glz2tol & 133,036 145,436 A 12,400
J| 66,518
Al 66,518
05 RIZHRIEF 3 133,036 145,436 A 12,400
OXIOixIE 2teldl(2Hbl X&)
133,036, 000& 133,036
J| 66,518
Al 66,518
OtEm - A Oolg2el 10,200 10,200 0
307 glz2tol & 10,200 10,200 0
01 2222l 10,200 10,200 0
OOIEN . dA MASES X ZAH K&
3,200,000 3,200
OOIEI . dA MASE X 2d8H X
7,000,000& 7,000
N AE HAEAHAEY 6,000 4,000 2,000
307 21201 A 6,000 4,000 2,000
01 222l 6,000 4,000 2,000
OFAMAEI 2=l XA 6,000,000& 6,000
NAAS S THE AL 2,800 2,800 0
307 glz2tol & 1,800 1,800 0
01 2222l 1,800 1,800 0
OME Zofel HaXE AzL428 ¢
1,800,000 1,800
405 XHoHF S HI 1,000 1,000 0
01 AL ESFH S 1,000 1,000 0
OFZOMe 2+ M0 S #+2  1,000,000& 1,000
XSG dEH2S 5,000 5,000 0
307 glz2tol & 5,000 5,000 0
01 222724l 5,000 5,000 0
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AN A2SE D
Hu: AY B(2A/2AYR)
S FHAANS BEAAS XA (9 ® =)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
< 11,400
307 glz2tol & 11,400 11,400 0
< 11,400
2=t 11,400 11,400 0
OMASE Lo Al R0tE2J N ALY
11,400,000 11,400
< 11,400
nAggdaozd XA 17,060 17,060 0
J| 8,530
< 4,260
Al 4,270
307 g1+l & 17,060 17,060 0
J| 8,530
< 4,260
Al 4,270
01 2222l 17,060 17,060 0
O LLE oZHIXA 17,060,000 17,060
J| 8,530
= 4,260
Al 4,270
JIHA & ZHEs X3 62,987 56,223 6,764
= 31,491
= 15,748
Al 15,748
307 21201 A 62,987 56,223 6,764
= 31,491
< 15,748
Al 15,748
05 RIZt2IEt = 62,987 56,223 6,764
OJIMAH & ZHeER XA 62,987,000 62,987
= 31,491
< 15,748
Al 15,748
AL STAY 2,019,731 2,052,801 33,070
J| 516,897
< 259,790
Al 1,243,044
NAASI AL ZAL ZALEA S22 45,430 46,448 21,018
J| 22,715
Al 22,715
201 £B-2%| 300 200 100
| 150
Al 150
01 At 22l 100 200 A 100
OXGAS A2 ZAALS 100,000& 100
J| 50
Al 50




SH: ALBED
M HY SA(EA/2H98)
Sl AYSE ALY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
02 =224l 200 0 200
OXISALE] AL ZALALSY 200,000& 200
J| 100
Al 100
202 odl 200 300 A 100
J| 100
Al 100
01 SLHOIYI 200 300 A 100
OX A A A2 ZAALES 200,000& 200
J| 100
Al 100
307 g2+l & 44,930 45,948 21,018
J| 22,465
Al 22,465
05 RIZIRI & 3 44,930 45,948 A1,018
OXGALS] A2 EZAALS 44,930,000& 44,930
J| 22,465
Al 22,465
ABME MM S§ MHIA ALY 16,000 12,000 4,000
301 L2 LS 16,000 0 16,000
11IIEtEA S 16,000 0 16,000
Oodldrg AZHEx ZAE 16,000, 000& 16,000
NEAS S SHXAMEI A 228,142 238,142 210,000
J| 114,071
< 34,221
Al 79,850
101 @124l 75,000 75,000 0
J| 37,500
< 11,250
Al 26,250
04 DIt 22 HEE =+ 75,000 75,000 0
S HAE A 21| 64,800,000& 64,800
Il 32,400
< 9,720
Al 22,680
O&xZ 7,500,000& 7,500
J| 3,750
= 1,125
Al 2,625
Ouw=s0H 2,700,000 2,700
J| 1,350
< 405
Al 945
201 LBH2E| 59,742 59,742 0
J| 29,871
= 8,961




EXN: HdLSE Y
Hz: HY S (BAH/BAH2)
£hels ALSTALY (ol &9)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 20,910
01 AP 22| d| 29,742 29,742 0
o029 g8, TXAT HE S 29,742,000 29,742
Jl 14,871
o= 4,461
Al 10,410
03 &AL E H| 30,000 30,000 0
02¢% 22, g 24 30,000,000& 30,000
J| 15,000
& 4,500
Al 10,500
301 et A= 34,200 24,200 10,000
J| 17,100
&< 5,130
Al 11,970
11 JIEtE A= 34,200 24,200 10,000
ZHdZ JI88 2 9,200,000 9,200
J| 4,600
= 1,380
Al 3,220
O =29 25,000, 000& 25,000
J| 12,500
& 3,750
Al 8,750
307 2iztol A 54,400 74,400 A 20,000
J| 27,200
& 8,160
Al 19,040
o1 s R=dl 54,400 74,400 A 20,000
O 249 K& 54,400,000 54,400
Dl 27,200
= 8,160
Al 19,040
405 XH&HF S HI 4,800 4,800 0
J| 2,400
o=} 720
Al 1,680
01 XML 2 FF S| 4,800 4,800 0
OYASEA =XHD| 2 4,800,000& 4,800
J| 2,400
& 720
Al 1,680
HEANELIESAY 131,450 131,450 0
& 65,725
Al 65,725
307 2iz2to| & 131,450 131,450 0
& 65,725




SH: ALBED
Hz: HY S (BAH/BAH2)
£hels ALSTALY (ol &9)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
Al 65,725
o1 s R=dl 131,450 131,450 0
OHEANELIESAY 131,450,000 131,450
= 65,725
Al 65,725
232X HLBAHE XNF-EK0F A4H 4,677 4,506 171
bl
J| 2,749
& 339
Al 1,589
201 LBt 2,500 2,500 0
J| 1,000
& 125
Al 1,375
01 AP 22| d| 2,500 2,500 0
OE RO HLZEAY 2,500,000& 2,500
Jl 1,000
o 125
Al 1,375
307 212t0| ™ 2,177 2,006 171
J| 1,749
= 214
Al 214
o1 o= 278 270 8
OYR0F LYW ELUAAHI AR 278,000 278
J| 228
& 25
Al 25
05 QIZ2tR E 2 1,899 1,736 163
OE R0 H2LEE A 1,899,000 1,899
J| 1,521
= 189
Al 189
SEHLUAIOI A 2 AF & &Hor2tel 21,832 20,840 992
J| 10,916
=} 5,458
Al 5,458
307 QI2t0| & 21,832 20,840 992
J| 10,916
=} 5,458
Al 5,458
01 2l 2¥d2=H| 21,832 20,840 992
O A0l A ZAF & EH0F22|
21,832,000 21,832
Dl 10,916
o 5,458
Al 5,458




SH: ALBED

Zaj: AY S(LA/LAAE)

Ee: AASEAL (2 &HH)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
Ol=0t ¥ MAAMHOIA0Ot 9 2H| XNH 50,100 50, 100 0

J| 25,050
< 12,525
Al 12,525
307 2Iz2to| & 50,100 50, 100 0
Dl 25,050
= 12,525
Al 12,525
01 sd =l 50,100 50, 100 0]
O0I=0t & HHL0IA0 o 2H X &
50,100,000 50,100
J| 25,050
& 12,525
Al 12,525
o242 AX MUHAEEDI|AEH XS 4,445 4,445 0
J| 3,556
Al 889
201 gBt24y| 301 301 0
Dl 241
Al 60
01 AP 22| H| 301 301 0
OMO&ED| AL & 301,000& 301
J| 241
Al 60
307 giztol A 4,144 4,144 0
J| 3,315
Al 829
05 DIZH9Et 2 4,144 4,144 0
OMHAMED AR 4,144 ,000& 4,144
Jl 3,315
Al 829
ESHNEHAS XS 60,000 60,000 0
o 18,000
Al 42,000
301 LerE A3 60,000 60,000 0
= 18,000
Al 42,000
11 JIEtE &= 60,000 60,000 0
OSME2 X (AMOIAXH)
60,000,000 60,000
= 18,000
Al 42,000
=Y 416,000 371,000 45,000
201 et 18,000 0 18,000
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SH: ALBED
HH: A2 sA(2A/2AHAR)
£hels ALSTALY (ol &9)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
OFEjoF JI= 0t BAHl X = 17.,000,000& 17,000
ogusE EEH 2 5,000,000& 5,000
ON%g a8 N 7 5,000, 000& 5,000
NN SSHAL ST AL 666,690 666,690 0
2l 333,345
< 100,003
Al 233,342
101 @12 H] 338,000 338,880 A 880
y 169,000
S 50,700
Al 118,300
04 JIZAtNZ22XNSEF 338,000 338,880 A 880
©elAH| 338,000
oSYAHISTAMY 1,700,000 x7E 120 & 142,800
2l 71,400
& 21,420
Al 49,980
CEHAAZTAY (L2, WE)
1,800,000& x7& «1200 & 151,200
Il 75,600
S 22,680
Al 52,920
ocuesole Mosd
50,0003 «1H *1201 2 600
Il 300
< 90
Al 210
o &A= 3,500,000 x4 14,000
Jl 7,000
= 2,100
Al 4,900
cE A= 1,800,000 x10& 18,000
Il 9,000
S 2,700
Al 6,300
oSEHLSIUAMNY WE0H
300,000& =18 5,400
Il 2,700
= 810
Al 1,890
oFUFME 2H0= €2 MR A
1,500,000& »2H *23] 6,000
Il 3,000
S 900
Al 2,100
201 Yet2 | 184,319 182,639 1,680
2l 92,159
< 27,648
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CHE - EI(BA) - NRAY - BYS 0l &k o4

OdLIE2EE Ole2el At 6,200
oclEg2AE M2 ALY 6,200,000 6,200
J| 3,100

< 930

Al 2,170

OLQAHLSA ALY 48,100
ogtolot AL S ALY 13,100, 000& 13,100
J| 6,550

< 1,965

Al 4,585

oXIOH AXMHEEZZOH 29 8,000,000 8,000
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Al 2,800

oFOENWYE AZ0tE =I1 27,000,000 27,000
J| 13,500
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Al 9,450
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OOSHAUALSTAY 26,500
COLET #& T2 2% 1,000,000 1,000
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Al 350
SFO0IS AL DAHALIAY
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= 2,250
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A HLSEY
Zaj: AY S(LA/LAAE)
Ee: AASEAL (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
Al 175
ONSHATHUSE ALY 15,123
CEAUE 1Y 3,123,000& 3,123
J| 1,562
= 468
Al 1,093
o(OIEDl MAIEO 222E Y
12,000,000& 12,000
J| 6,000
== 1,800
Al 4,200
OWHEEROIHLSE ALY 85,778
oPAZTHA AFTHAAH| 69,000, 000& 69,000
J| 34,500
= 10,350
Al 24,150
olHI RS LN HUXH 3,000,000 3,000
J| 1,500
o= 450
Al 1,050
ocdNME HEM S&H 7Y 13,778,000& 13,778
J| 6,889
= 2,067
Al 4,822
OFAHNSAHLASEAIS 10,070
SOIETMA BT 22UBE 79
2,000,000& 2,000
J| 1,000
== 300
Al 700
o MEAH 8,070,000& 8,070
J| 4,035
== 1,210
Al 2,825
SSEOHC XA SH X 18,540 18,540 0
= 9,270
Al 9,270
307 Q12t0| ™ 18,540 18,540 0
o= 9,270
Al 9,270
01 2sd =l 18,540 18,540 0
OZ=E=&0He XIH&=Hl K& 18,540,000 18,540
& 9,270
Al 9,270
AMNE SRHIAS 6,004 7,020 A 1,016
== 3,002
Al 3,002
307 gizto| A 6,004 7,020 AN 1,016
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SA - B .G (3AH) - MBAY - BES %Eﬁ HR=2
OoIAAL X QA D2 MIE
70,000 22X 1,540
O3 &l 7,000 x3004! 2,100
O&FZLD| X 1,980,000 1,980
OFMBANTAS HHASS
9,500,000& 9,500
02 E2=2=2%H| 31,000 34,000 A 3,000
o222 ¢ 6,000,000 6,000
O A& & H| KX 4| 10,000,000& 10,000
OXtgEHe| 15,000,000 15,000
202 o4 | 17,500 17,500 0
01 2Ll 17,500 17,500 0
oa2 17,500,000& 17,500
203 HR= 3,000 3,000 0
03 Al ZH 3,000 3,000 0
oA 3,000,000& 3,000
405 Ko SHI 5,000 3,400 1,600
01 AHAHS 5,000 3,400 1,600
@ r=r=4 (TV 2 3&)
5,000,000& 5,000
LoEAET 5,200 9,000 A 3,800
307 212t 5,200 9,000 A 3,800
01 9= 5,200 9,000 A 3,800
(©OE= 5,200,000& 5,200
X <Eots Al [Jl Al A 9,000 0 9,000
& 9,000
201 LBt 7,000 0 7,000
&< 7,000
03 & A 7,000 0 7,000
(©Fal 7,000,000& 7,000
& 7,000
307 QI2t 2,000 0 2,000
= 2,000
01 9 2% 2,000 0 2,000
©0 2,000,000& 2,000
= 2,000
A R0otAH A 10,000 0 10,000
307 212t0| 10,000 0 10,000
01 =< 10,000 0 10,000
O0¥K0 10,000,000 10,000
F XSG H2 18,000 0 18,000
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M HY SA(EA/2H98)
ALSEAY o E)
= _ — d =
SA - B (SA) - MRAY - BYS e 2
201 ¢er24| 1,500 0 1,500
01 ArR 22l 1,500 0 1,500
OALMENR SHSE 79
500,000& *37H & 1,500
301 et d=s 16,500 0 16,500
NJIEEd=s 16,500 0 16,500
OALYME X AANE 16,500,000& 16,500
A LAY (AL ST D) (IIEH/IIE) 199,451 196,494 2,957
22l 116,851 113,294 3,557
24l 116,851 113,294 3,557
101 1Al 116,851 113,294 3,557
01 2= 116,851 113,294 3,557
oxzuz2Rx¢ 116,851
S 10,6823 x11H +40Al 2+ x 12 56,401
S 9,649 «7H *40Al 2t 12 32,421
=8 8,663& *3H «40Al 2tx 128 12,475
o 9= 7,830 «3H x40Al 2t<123 11,276
oX MM 112,573,000 *3.8% 4,278
=&l 82,600 83,200 A 600
Jl=Z 4 82,600 83,200 A 600
201 Let24E] 6,400 7,000 A 600
01 At 2teltl 6,400 7,000 A 600
O get=EH| 5,000,000 5,000
O= &l 1,400,000 1,400
202 044l 72,000 72,000 0
01 SLHOYI 72,000 72,000 0
OZUH=Z 0t 240,000& 25 123 72,000
203 YR =2t 4,200 4,200 0
04 2EN2ZYR=F 4,200 4,200 0
ORN2IELR | 350,000& 128 4,200
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